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1 —WinZEE 2 AT 3 900
2 N ZFIEE 2 600
3 —HNZEE % 1 300
4 N I R/ 3 900
5 FRIEFZS HEE 2 4 1200
6 L RISHZ 2 2R 78 5 4 1200
7 FRISHZ 2 XE = 2 600
8 RGN Z2 XIS 6 2500
9 RIS Z 2 IS 5 1500
10 RIS HZ 2 ZEt 4 1200
11 RIS Z 2 LA 3 900
12 FRIEMNZES RN 3 900
13 RIERZE2 i [E] 4E 3 900
14 FRIRRZRS FRAK 4 3 900
15 FRIRNZES 3 5 1500
16 RIERZE2 WES 4 1200
17 SRALATZE 2 S 3 900
18 SRR 2 RERE 3 900
19 FFENES FE I 3 900
20 il R W [ 2 2 600
21 SN ES 2= 4 1200
22 KN ZES BRIt 3 900
23 VAl B 3 2 600
24 VA N AT 4 1200
25 N ES AR 4 1200
26 BN ZSE ZE N 5 1500
27 BN TS X1 SCIR 4 1200
28 %S 2R IR 5 1500
29 PN ZES R HT 4 1200
30 BN ZES % I 1 300
31 BN TS e 6 1800
32 BN ZES R 4 1200
33 BN Z S Lo 3 900
34 BN ZE Ee 11N 3 900
35 et L i 1 300
36 BN ZS X1 7 1 5 1500
37 EEN S & 3 900
38 BN %S X1 78 1 300
39 PN ZES R 5 1500
40 P S X SC 1 300
41 BN TS XIHT % 3 900
42 BN ZES ot 2 600
43 e ES X EF = 3 900
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41 BN TS Mres 4 1200
45 BN ZES X HT b 1 300
46 S N EZ 0 2 600
47 BN ZE XD 7R 4 1200
48 et XIF48 3 900
49 BN ZS . 3 900
50 LS R 2wl 6 1800
51 PN ZS TR 2 600
52 PN ZES 15 R AR 4 1200
53 BN ZS BT 2 600
54 LS BEARE 3 900
55 BN ZES 75 [H B 2 600
56 L X2 2 600
57 BN ZE Bh g 6 1800
58 et Pl 4 1200
59 BN ZS KE 2 600
60 KIEM S i 5 1500
61 FIEMZES B/ & 3 900
62 FIER 2o PR 3 900
63 FKENZS X {7 6 1800
64 FENZES L2 4 1200
65 FKENZS ZERE 5 1500
66 FIEM 22 R 2 600
67 KENZS P EIE 5 1500
68 RIEM S R 4 1200
69 FKENZS ZHE 6 1800
70 KENZ S 2N 3 900
71 FIEMZES B e 5 1500
72 FIER 2o KHE 4 1200
73 FKENZS Mriz il 5 1500
74 FENZES Bhik o 4 1200
75 FKENZS ZE% 1 300
76 FENZS RHEI 4 1200
77 KENZS X1 5 1500
78 KT S RN 6 1800
79 KENZS BEE 6 1800
80 KENZ S B 2 600
81 ot Ze B 3 900
82 oot &S 2R % 2 600
83 ot &2 2R 1 300
84 DI MR M 5 1500
85 oo Ze A 3 900
86 DI VI 2 600




20204F FE B AEG « 3 « 1R LN TV & =ik

2.
Z

BE (A% AP ZRAIR

T

1] : 202248 H8H

IR = >4 E5

o (TEOR 4 popes | srany | R
87 oot &2 T 3 900
88 &S AR 4 1200
89 DI ZHAR 5 1500
90 oo &2 2 IfENE 5 1500
91 oA &S EA 2 600
92 oo Ze PN 2 600
93 DI X &7 2 600
94 Bk 2 R 3 900
95 AN N = 4 1200
96 &2 ZENL B 4 1200
97 PN Bk i 6 1800
98 e ZES IR 2 600
99 ez T 5 1500
100 MEMNEE N 4 1200
101 e XIE L 3 900
102 MeMEE D 4 1200
103 ez PhE @ 4 1200
104 MEMNEE PX2 2 600
105 e H=E 3 900
106 MEMNEE YN 4 1200
107 MENTE o= % 4 1200
108 MEeMNEE PR 3 900
109 ez Bl A 4 1200
110 MEMNEE i 2 5 4 1200
111 e 2R 5 1500
112 MEeMEE 5Tt 2 600
113 ez X FZF 5 1500
114 MeNZES XIFH AT 4 1200
115 et ZEe XI5 4 1200
116 MEMNEE X FI 4 1200
117 e HLE 3 900
118 MEeMNEE Bh R 6 1800
119 ez AT 4 1200
120 HWENZS )T 5 1500
121 BENZS o> g 3 900
122 HENZS BhaskE 3 900
123 e MR 4 1200
124 HENZS AP 2 600
125 e B 4 1200
126 HWENZS TR 2 600
127 N RS R 3 900
128 RN Z S LEE 3 900
129 NN P ] 1 3 900
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150 P ik ; )
51 RBHES Wil : 0
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